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0. The Puzzles: 

Puzzle 1: In French too and enough constructions (T&E) the complement clause (or its negation) need not be actualized, with matrix imperfective aspect (1). With perfective aspect however, the complement clause (or its negation) is entailed (2): this is the so-called implicative reading. 
non implicative
(1) 
a. Jean était assez rapide pour s’enfuir (mais il ne s’est pas enfui/et il s’est enfui)

    
    Jean was-impf quick enough to escape (but he didn’t escape/and he escaped)



-/( Jean escaped





b. Jean était trop lent pour s’enfuir (mais il s’est enfui/il ne s’est pas enfui)


    Jean was-impf too slow to escape (but he still escaped/he didn’t escape)



-/( Jean didn’t escaped





implicative

(2) 
a. Jean a été assez rapide pour s’enfuir (#mais il ne s’est pas enfui)


    Jean was-pfv. quick enough to escape (#but he didn’t escape)



-( Jean escaped







b. Jean a été trop lent pour s’enfuir (#mais il s’est quand même enfui)


    Jean was-pfv. too slow to escape (#but he still escaped)



-( Jean didn’t escape




Puzzle 2: Perfective T&E keep their implicative behavior under negation:

(3) 
a. Jean n’a pas été assez rapide pour s’enfuir (#mais il s’est quand même enfui)


    Jean was-pfv. not quick enough to escape (#but he still escaped)



-( Jean didn’t escape








b.  Jean n’a pas été trop lent pour s’enfuir (#mais il ne s’est pas enfui)


     Jean was-pfv. not too slow to escape (#but he didn’t escape)



-( Jean escaped
Classical analyses (e.g., von Stechow 1984, Heim 2000, Meier 2002) overlooked this aspectual interaction with implication and focused on non implicative readings. To derive implicative readings, they must resort to a stipulation which: 


(i)  cannot capture the role of aspect; 



(ii)  doesn’t derive the correct implicative readings 

(cf. Appendix).
Proposal: 
T&E are at base implicative (perfective).


Non implicative readings arise through a genericity operator (imperfective).
Roadmap: 
· Showing the implicative behavior of T&E contingent on aspect
· Accounting for the implicative readings
· Accounting for the non implicative readings
1. What is puzzling about puzzles 1 and 2?
1.1. Aspect and implication

What is it about perfective that makes T&E implicative and imperfective non implicative?

Able (Bhatt 1999):


(4)
a.  Jean a pu soulever cette table, #mais il ne l’a pas soulevée


     John could-pfv. lift this table, #but he didn’t lift it



b.  Jean pouvait soulever cette table, mais il ne l’a pas soulevée


     John could-impf lift this table, but he didn’t lift it

· The ability modal is at base implicative ((4a) ( Jean managed to lift this table) and the base meaning is reflected by perfective morphology.
· Non implicative reading arises with presence of a genericity operator, which doesn’t require verifying instances. In languages that have an overt aspectual distinction, Genericity is morphologically encoded by imperfective. (cf. Section 4).

English T&E: Karttunen (1971) points out that T&E seem to sometimes be implicative:



(5)
a. John was clever enough to escape





-( John escaped



b. John was clever enough to solve math problems





-/( John solved math problems
· Intuitively, (5a) and (5b) differ in that the former is most easily read as an episodic, whereas the latter as a generic.

· In English aspect is not overtly specified: (5a) favor an episodic reading, but it can be interpreted generically (e.g., if followed by a continuation denying the complement).

· In French, aspect is overtly specified: 

If imperfective: generic interpretation; if perfective: episodic interpretation.


(6) 
a. Jean a été assez rapide pour s’enfuir 

[episodic]

    Jean was-pfv. quick enough to escape 


b. Jean était assez rapide pour s’enfuir 

[generic]
    
    Jean was-impf quick enough to escape


1.2. The implicative nature of T&E
1.2.1. Implicatives (Karttunen 1971)
· When affirmative ‘implicate’ the actuality of their complement clause (7a). 

· When negated ‘implicate’ the negation of their complement clause (7b).

(7) 
a.
John managed to kiss Mary


( John kissed Mary
 

b.
John didn’t manage to kiss Mary


( John didn’t kiss Mary

According to Karttunen (1971), (7a) and (b) assert (8a) and (b) and both presuppose (c): 

(8)
a. John kissed Mary 


b. John didn’t kiss Mary 


c. J.’s success in kissing Mary depended only on his skill and ingenuity 
1.2.2. Perfective T&E are implicative: 


(9)
a.  Jean a été assez rapide pour s’enfuir (#mais il ne s’est pas enfui)




     Jean was-pfv. quick enough to escape (#but he didn’t escape)






( Jean escaped



b.  Jean n’a pas été assez rapide pour s’enfuir (#mais il s’est enfui)



     Jean was-pfv. not quick enough to escape (#but he still escaped)






( Jean didn’t escape

· (9a) implicates that Jean escaped, (9b) implicates that he didn’t. 

· (a) and (b) share that there is a relation between a degree of quickness and escaping.

1.2.3. What is puzzling about (9)?

Intuitively, (9a) means that there is a degree of quickness that ensures that Jean escaped.
,

(10) 
a. J.’s quickness ( [ιd:(w(Acc(@): J. is d-quick in w ( J. escapes in w]

    Jean was at least as quick as the quickness that ensures that he escapes.

However, negating (10a) doesn’t yield the meaning of (9b):

 (10)
b.  ( [J.’s quickness ( [ιd:(w(Acc(@): J. is d-quick in w ( J. escapes in w]]

      J. was not as quick as the quickness that ensures that he escapes.

 b’. J.’s quickness < [ιd:(w(Acc(@): J. is d-quick in w ( J. escapes in w]

      Jean was less quick than the quickness that ensures that he escapes.

Problem: 
Jean not having the degree of quickness that ensures his escape doesn’t preclude that he still escaped (by means other than quickness).

What we need for (9b):

(11) 
J.’s quickness < [ιd:(w(Acc(@): J. escapes in w ( J. is d-quick in w]

Jean was not as quick as the quickness that he must have if he escaped.

Thus to account for (9) we need the following two degrees: 

(12)
a. [ιd: (w(Acc(@): J. is d-quick in w ( J. escapes in w]


b. [ιd’:(w(Acc(@): J. is d-quick in w ( J. escapes in w]
· Previous analyses only have one side of the relation (e.g., (11) is like Heim (2000)).
· I propose to collapse the two sides of the relation into a single degree which amounts to an equivalence:

(13)
[ιd:(w(Acc(@): J. is d-quick in w ↔ J. escapes in w]

2. Proposal

2.1. Deriving the implicative reading of enough constructions


(16)
a. 
Jean a été assez rapide pour s’enfuir



    
Jean was-pfv. quick enough to escape



b. 
Jean had the degree of quickness sufficient and necessary to escape


c.
presup.: there’s a degree of quickness sufficient and necessary to escape
Putting aside tense and aspect for a moment, (16a) would have the following LF:

(17)
[ιd:(w(Acc(@). J. escapes in w ( J. is d-quick in w] J. is d-quick in @

The modality:
The type of modality involved in this equivalence is circumstantial (cf. Kratzer 1991): 
· Circumstantial modality is used when we talk about the necessities and possibilities given certain facts or circumstances (e.g., I have to sneeze).
· For (17): In all worlds in which certain circumstances hold (e.g., conditions of entrapment, etc...), Jean escapes iff he is d-quick. 

· This type of accessibility relation is reflexive (the actual world is accessible from itself).
Deriving the entailments:

(17)
Jean a été assez rapide pour s’enfuir

[ιd:(w(Acc(@). J. escapes in w ( J. is d-quick in w] J. is d-quick in @

P1: In all acc. worlds, if Jean was d-quick, Jean escaped

P2: Jean was d-quick in @
( Jean escaped in @



(by Modus Ponens + reflexivity)


(18)
Jean n’a pas été assez rapide pour s’enfuir


[ιd:(w(Acc(@): J. escapes in w(J. is d-quick in w] J. is (d-quick in @

P1: In all acc. worlds, if Jean escaped, Jean was d-quick
P2: Jean was not d-quick in @
( Jean didn’t escape in @

            (by Modus Tollens + reflexivity)

2.2. Sufficient and necessary?

· Is the necessary part of the relation really there? Shouldn’t enough mean suffice? 

(19)
a. Elle n’a pas été assez belle pour être élue miss France. #Son talent a aussi joué.


    
    She was-pfv not pretty enough to be elected Miss F. #Her talent also mattered.



b. Sa beauté n’a pas suffi à ce qu’elle soit élue Miss F. Son talent a aussi joué.


   
    Her beauty didn’t suffice for her to be elected Miss F. Her talent also mattered.
(19b) is compatible with her still being elected Miss France (negating suffice doesn’t entail the negation of the complement clause), which is why the continuation is OK (((19a)). 
· Is the sufficient part of the relation really there? Could it be that mere quickness will make one escape? What about other conditions? 
Prediction: Because of the equivalence in the presupposition, the condition given by that presupposition should be the only condition which the realization of the complement depends on. If the complement also depends on an additional condition, the sentence should be odd or the 2 conditions should be equivalent. This prediction is born out.

Scenario 1: We know that in order to escape Jean must both be quick and smart. You say: 

(17)
Jean a été assez rapide pour s’enfuir


Jean was-pfv. quick enough to escape

Judgments: In this context the sentence is a bit odd. If I don’t know anything about Jean, I get the impression that you take it for granted that Jean is smart. 

Theory: Because Jean has to be both quick and smart there is no degree of quickness that can guarantee his escape. However, we accommodate that Jean is smart beyond the necessary threshold, so that Jean being quick and smart is equivalent to him being quick:
How it works:


A. Presupposition of (17): (d[(w(Acc(@): J. escapes in w ( J. is d-quick in w]

B. Context: (d1(d2[(w(Acc(@): J. escapes in w ( J. is d1-quick and d2-smart in w]


C. Accommodate: Jean is d2-smart in all accessible worlds
(B) doesn’t entail (A). However, the speaker accommodates (C): (B) + (C) ( (A). 

Scenario 2: We know that Jean needs to be either smart or quick. You say:


(18)
Jean n’a pas été assez rapide pour s’enfuir. 



Jean was-pfv. not quick enough to escape

Again, if I don’t know anything about Jean, I infer that you take for granted he isn’t all that smart. 


A. Presupposition of (18): (d[(w(Acc(@): J. escapes in w ( J. is d-quick in w]

B. Context: (d1(d2[(w(Acc(@): J. escapes in w ( J. is d1-quick or d2-smart in w]

C. Accommodate: Jean is not d2-smart in all accessible worlds
(B) + (C) ( (A).
2.3. The dual relation between too and enough 

The following sentences are supposed to be truth-conditionally equivalent:


(20)
a.
John was too slow to escape



b.
John was not fast enough to escape

Polarity of gradable adjectives
The negative pole of an antonym pair is treated as the negation of the positive pole (von Stechow 1984). QUICK(x) is x’s quickness, that is, the maximal degree to which x is quick:
(21)
a.
[[quick]] = λd.λx. QUICK(x) ( d


b.
[[slow]] = λd.λx. ([[quick]](d)(x) = λd.λx. (QUICK(x) ( d
Too minimally differs from enough: the equivalence relation is between a degree of adjective and the non-realization of the complement: 

(14)
[[enough]] = λxλP<d,t>λQ​<s,t>. [ιd:(w(Acc(@).    Q(w) ( P(d)(w)(x)] P(d)(w)(x)


(15)
[[too]]        = λxλP<d,t>λQ​<s,t>. [ιd:(w(Acc(@). (Q(w) ( P(d)(w)(x)] P(d)(w)(x)

(20a) and (b) have the LFs in (22) and (23):


(22)
Jean a été trop lent pour s’enfuir



[ιd:(w(Acc(@).( [[J. escaped]]w ( [[slow]](d)( J.)(w)] [[slow]](d)( J.)(@)


Jean had the degree of slowness that guarantees that he didn’t escape


(23)
Jean n’a pas été assez rapide pour s’enfuir



Jean didn’t have the quickness that guarantees that he escapes



[ιd:(w(Acc(@). [[J. escaped]]w (  [[quick]](d)( J.)(w)] ( [[quick]](d)( J.)(@)
(Replacing with negation of antonym adjective)


[ιd:(w(Acc(@). [[J. escaped]]w ( ( [[slow]](d)( J.)(w)] [[slow]](d)( J.)(@)
(By logical equivalence: (P ( (Q = P ( Q)



[ιd:(w(Acc(@).( [[J. escaped]]w (  [[slow]](d)( J.)(w)] [[slow]](d)( J.)(@)


Jean had the degree of slowness that guarantees that he didn’t escape     (= (22))
3. Adding Tense and Aspect
Adding situation/event variables: 

(24)
John is usually very slow, but yesterday, he was quick enough to escape

· Stage-levelness of the adjective: we’re not talking about John’s absolute quickness (or potential for quickness) but rather his quickness in a particular situation. 

· s-level adjectives have a (spatio-temporal) situation/event argument (cf. Kratzer 1995). 

Correlation between aspect and implication: 

· The situation/event argument can bound by existential closure (perfective):

(25)
Jean a été assez rapide pour s’enfuir


(e[e<e*][ιd:(w(Acc(@). (e’(e’ o e) J escapes in e’ in w ( 




J. is d-quick in e’ in w] J. was d-quick in e in @


There is a past event where J. had the sufficient/necessary quickness to escape. 

· The situation can be quantified over by a Genericity Operator. 
4. Accounting for the non implicative reading of T&E
· The base meaning of T&E is implicative: it entails the complement clause. 
· The non implicative meaning of T&E results from the presence of a genericity operator that can include non actual worlds/situations. 
4.1. A predecessor: The Ability Modal (Bhatt 1999)
Aspect and implication: perfective -( complement (26a); imperfective -/( complement (26b):

(26)
a.  Jean a pu soulever cette table, #mais il ne l’a pas soulevée


     John could-pfv. lift this table, #but he didn’t lift it



b.  Jean pouvait soulever cette table, mais il ne l’a pas soulevée


     John could-impf. lift this table, but he didn’t lift it

Bhatt’s analysis:  able ( manage

assertion: complement clause. 

Conventional implicature: some effort went into the realization of the complement. 


modal reading: Gen-Op: 
- doesn’t require verifying instances;






- reflected by imperfective morphology. 

4.2. Non Implicative Readings of T&E
· Genericity operator: universal quantifier over situations (s) (and individuals (x)), with the relevant situations being provided by the context (cf. Krifka et al. 1995). 

(27)
A dog barks (when it smells danger)


GEN[x,s](x is a dog & x smells danger in s ; ( x barks in s)





 
restriction
          nuclear scope
Gen-Op can combine with T&E and yield a non implicative reading:


(28)
a. 
Jean est assez rapide pour s’enfuir


    

Jean is-impf quick enough to escape



b. 
GEN[s](J. has the sufficient/necessary quickness to escape in s)



c.
“In all relevant situations Jean has the quickness to escape”.

Question: What are the relevant situations? What happens to the presupposition?

· Presuppositions get accommodated in the restriction of Gen-Op 
(Schubert and Pelletier 1989):

(29)
Cats land on their feet


“land on one’s feet” presupposes that the subject drops to the ground. Accommodation of this presupposition:  

(30)
‘In all situations where they drop to the ground, cats land on their feet’. 

In T&E also: presupposition gets accommodated into the restriction of Gen-Op.

· This restricts the set of situations to those which depend only on Jean’s quickness:

(31)
GEN[s]((d: (s’(Acc(s) Jean is d-quick in s’ ↔ Jean escapes in s’ ; 



     Jean is d-quick in s)

‘In every situation of escaping where there is a degree of quickness that guarantees his escape, Jean has that degree of quickness’.
· The situations in this set are highly idealized: the actual situation may not be in this set. (e.g., in reality, Jean might not be smart enough: in that case, there would be no degree of quickness that guarantees his escape).
( This is the non implicative reading: the complement clause doesn’t need to be actualized.

5. Further Issues

5.1. Perfect readings of the perfective

The passé composé (perfective) in French is ambiguous between a preterit (incompatible with adverbs like toujours), and a perfect (cf. Smith 1991). 
(32)
Jean a toujours été assez sobre pour conduire. Mais sa femme ne l’a jamais laissé, parce qu’elle ne lui fait pas confiance. 


Jean was-pfv. always sober enough to drive. But his wife never let him because she doesn’t trust him.

In (32) the continuation implies that the complement clause didn’t take place. Contrast with (33):

(33)
Hier, Jean a été assez sobre pour conduire. #Mais sa femme ne l’a pas laissé, parce qu’elle ne lui fait pas confiance. 
Yesterday, Jean was-pfv. sober enough to drive. #But his wife didn’t let him because she doesn’t trust him.  
The crucial difference is that (32) involves universal quantification over situations, whereas (33) involves existential closure. (32) seems to involve a Perfect of a generic (Perfect + Gen Op), morphologically realized as passé composé in French:


(34)
Jusqu’à présent, la cigogne migratrice a toujours passé l’hiver en Afrique.



Until now, the migrating stork has always spent winter in Africa.
· Perfective morphology doesn’t necessarily entail implicativity. Rather, morphology reflects presence of operators in turn responsible for actuality entailments or lack thereof. 

· Gen-Op is generally reflected by imperfective. However, if a Perfect scopes over it, its presence won’t be transparent in the morphology.
5.2. A note on T&E modal flavors

T&E constructions can have deontic readings:


(35)
Mary is old enough to drink

This is easily achieved in analyses that allow different accessibility relations (cf, Meier 2002). 

Two possible solutions:

· Gen-Op can have various modal bases (cf. Greenberg 2002): Gen-Op not only quantifies over situations but also worlds, which could be deontically accessible:


(36)
Dog owners pay taxes on them

Problem: Even though (36) feels deontic, it doesn’t have the same meaning as when an overt deontic modal is present. The continuation below is OK in (37) but bad in (36):


(37)
Dog owners should pay taxes on them, but they don’t.

· Genericity in terms of disposition (cf. Dahl 1975, Fara 2001): Gen-Op attributes a disposition to an object, in virtue of that object’s intrinsic properties. 
(35) and (36) are both cases in which it’s not obvious that the nuclear scope obtains in virtue of an inherent property of the subject. Contrast with:


(38)
a. A dog barks


b. John is fast enough to escape

· In (38a) barking is a disposition a dog has in virtue of being a dog. In (38b), escaping is a disposition John has in virtue of the inherent properties behind his quickness. 

· In (36) there’s nothing inherent to dog owners that predisposes them to pay taxes. Because paying taxes is not a property in terms of predisposition, we understand it from a legal point of view: we look at situations of dog-owning where owners do what they legally have to do in virtue of owning a dog.
· In (35) there’s nothing inherent about age that predisposes one to drink. The relation doesn’t hold in terms of predisposition. Thus we look at situations of drinking that depend strictly on age, which we understand to be from a legal point of view. 
5.3. Perspectives on implicatives and modals
· T&E implicativity is contingent on matrix aspect: they are at-base implicative, but can combine with Gen-Op to have non implicative readings. 

· Ditto for the ability modal (cf. Bhatt 1999).

· The following type of construction also patterns the same way:

Have the X1 to:


(39)
a.  Jean a eu le courage de parler à Marie, #mais il ne lui a pas parlé.



     Jean had-pfv. the courage to talk to Marie, #but he didn’t talk to her.



b.  Jean avait le courage de parler à Marie, mais il ne lui a pas parlé.



     Jean had-impf the courage to talk to Marie, but he didn’t talk to her.


We can extend the implicative/genericity account to the have the X1 to type:

(40)
Jean a eu le courage/le temps/la force de parler à Marie



Jean had-pfv the courage/time/strength to talk to Marie

            [ιd:(w(Acc(@). [[J. talks to M.]]w ( J. has d-courage in w] J. has d-courage in @

Issue: 
Some implicatives never have non implicative readings. With imperfective, the only possible reading is habitual (with verifying instances). (41a) illustrates the manage type, and (41b) the have the X2 to type:


(41)
a. Jean réussissait à parler à Marie *(à chaque fois qu’il la voyait)



    Jean succeeded-imp to talk to Mary *(every time he saw her)



b. Jean avait le plaisir de parler à Marie *(tous les vendredis)



    Jean had-imp the pleasure to talk to Marie *(every Friday)

Further research: Potential differences between perfective implicatives and real implicatives:


- Lexical meaning will trigger different presuppositions.



- Interaction of different inner and outer aspect.
6. Conclusion 
To handle T&E implicative readings:

· Based on the parallel with the ability modal (cf. Bhatt 1999), I proposed that T&E are at-base implicative. 
· The puzzling implicative behavior of T&E is due to a presupposed equivalence relation between a certain degree of adjective and the complement clause.

· Imperfective reflects the presence of a Gen-Op, responsible for non implicative readings.

· This Gen-Op quantifies over a set of idealized situations (created by the accommodation of the presupposition), which doesn’t necessarily include the actual world.
7. Appendix: Comparison with Previous Proposals
Standard analyses treat T&E as comparatives which involve covert modality. 

Meier (2003): The complement is implicitly modalized by a modal of existential force:


(A1)
Mary is old enough to drive



MAX {d: Mary is d-old} ( 


      MIN {d*: (w(Acc(@) s.t., Mary is d*-old in w & Mary drives in w}



Mary is older than the minimal age at which one can drive in view of the law.


(A2)
The food is too good to throw away


MAX{ d: the food is d-good} > 


      MAX {d*: (w(Acc(@) s.t., GOOD(w)(d*)(food) & one throws it away in w}

  
The food is better than the goodness at which one is allowed to throw it away. 

Implicative readings determined by context: Implicative readings are obtained through a fatalistic accessibility relation, which provides all the facts describing the actual world (the only world that it picks). The complement holds in the actual world because the modality is trivialized.


(A3)
John was clever enough to leave early


MAX {d: John is d-clever} ( 


     MIN {d*: (w(Acc(@) s.t., John is d*-clever in w & John leaves early in w}


John’s cleverness is equal or greater than the cleverness at which he leaves early.

Meier’s analysis is problematic in two respects: 

· It fails to capture aspect’s role in actuality entailments: As the French examples illustrate, context alone cannot explain the difference in implication, given that in languages with a richer aspectual morphology, the implicative reading only appears with matrix perfective morphology. 

· A fatalistic accessibility relation (which only picks the actual world) cannot derive the full meaning of T&E implicative readings: In (A3), if John doesn’t leave early in the actual world, the MIN operator will quantify over the empty set and the sentence will come out as undefined (instead of false). If John does leave early, the sentence will come out as trivially true (for technical details, see Hacquard 2004).

Heim (2000)/Von Stechow et al (2004):
(A4)
max{d: M. is d-old} ( 

          max {d’: (w(Acc(@): M. drives in w ( M. is d’-old in w}


Mary is at least as old as the age one must have if one drives.

(A5)
max{d: food is d-good} > max{d:  (w(Acc(@): 


one throws away the food in w & the food is d’-good in w}


The food is better than the degree at which one can throw it away. 

As in Meier (2002), Heim/von Stechow’s analyses cannot get aspect to interact with implication. They don’t specifically try to derive implicative readings, but they would also need to resort to a fatalistic accessibility relation, which would run into the same problems as Meier. To see why, suppose that Acc(@) is a singleton set containing the actual world, then the truth conditions will come out as follows:

 

[[cp]]@ = 1

[[cp]]@ = 0

Too: 

false


undefined

Enough: 
true (tautology)

undefined

If [[cp]]@ is false, the set the second MAX operator ranges over will be the empty set for too (since the first conjunct is false) and have no upper bound in the case of enough (since the false antecedent makes the conditional vacuously true for any degree). If [[cp]]@ is true, then the result of the second MAX will be well-defined. However, the comparison will work out to give a contradiction in the case of too (MAX(S) > MAX(S) will be false for any S) and a tautology for enough (i.e.,  MAX(S) ≥ MAX(S)).

Crucial differences between the current proposal and the classical analyses:


- The equivalence relation


- fixing the modal base to be circumstantial (which will always be realistic), with a modal of universal force 

Hacquard (2004): I proposed a more directly Karttunian account: T&E are implicative as they assert their complement clause and presuppose that there is a degree of adjective sufficient and necessary to the realization of the complement clause:

(A6)
a. 
Jean a été assez rapide pour s’enfuir



    
Jean was-pfv. quick enough to escape



b. 
assertion: Jean escaped



c. 
presupposition: There is a sufficient and necessary degree of 






quickness which guarantees Jean’s escape.
The presupposition stays the same and the non implicative readings are derived in a similar fashion. The two proposals make equivalent predictions. However, they differ in that the old account only has one event (escaping would be the manifestation of a certain quickness), whereas the new one can potentially have 2 separate events. Whether this move is needed is an empirical question:
Like other implicatives, it seems that T&E are more often than not a single event, so that a default rule will need to be invoked (in both proposals) in order to overlap the event of the complement and the matrix event. In the new proposal this is done by having the time of the complement event overlap the matrix one (sequence of tense). In the old account, the matrix tense combines directly with the complement clause, unless this would yield a temporal contradiction:


(A7)
Marie a été assez sage hier pour aller au cinéma demain



Marie was-pfv nice enough yesterday to go to the movies tomorrow


Marie will go to the movies tomorrow
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Upshot: Non implicative readings are linked to genericity.





( Working hypothesis: 	As per ability modal, T&E are at base implicative. We’ll derive non implicative readings through a Genericity Operator.





Upshot: 	The non implicative reading is due to the accommodation of the presupposition in the restriction of Gen-Op. This forces one to only look at situations that strictly depend on the adjective (the actual situation might be different). 





Upshot: 	The degree of adjective is a sufficient and necessary condition for the realization of the complement.  





T&E contain a definite description of degrees which triggers a presupposition. 


This presupposition establishes an equivalence relation between a degree of adjective �and the realization of the complement.





	(14)	[[enough]] = λxλP<d,t>λQ�<s,t>. [ιd:(w(Acc(@).    Q(w) ( P(d)(x)(w)] P(d)(x)(w)





	(15)	[[too]]        = λxλP<d,t>λQ�<s,t>. [ιd:(w(Acc(@). (Q(w) ( P(d)(x)(w)] P(d)(x)(w)











*I am especially indebted to I. Heim for all her help. Many thanks to P. Anand, E. Chemla, K. von Fintel, D. Fox, J. Gajewski, S. Iatridou, N. Klinedinst, R. Pancheva, P. Schlenker, D. Sportiche, the participants of Sinn und Bedeutung IX and UCLA semantics lunch for helpful discussion. All errors are mine.


� I will use von Stechow’s (1984) treatment of Gradable Adjectives. GA are relations between individuals and degrees. QUICK(x) is x’s quickness, that is the maximal degree to which x is quick: 





	(i) 	[[quick]]= λd.λx. QUICK (x) ( d


	(ii)	John is 6’ tall


		John’s height ( 6’





� Accessibility relation has to be reflexive for the actuality entailment to go through. @ = actual world.


� Potential problem: Is it the same event in all acc. worlds or are they copy of that event?
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